AP Calculus AR 4-2, 4-6 Riemann Sums WS: Using Tables of Values

1) Selected values of a function, £, are given in the table below:

X 0 -5 8 9 12 - 18 20

f(x) 4 2 3 7 3 6 10

a) Give the middle approximation with 3 subintervals for fon the interval [0, 20]

b) Use right-handed rectangles to approximate the area with 3 subintervals for fon the interval
[0, 20]

¢) Use left-handed rectangles to approximate the area with 3 subintervals for fon the interval
[0, 9]

d) Use trapezoids to approximate the area with 2 subintervals for fon the interval [0, 20]




2) Selected values of a function, f; are given in the table below:

f(x) 3 6 1 9 15 2 1 5 6

a) Give the middle approximation with 2 subintervals for fon the interval [1, 20]

b) Use right-handed rectangles to approximate the area with 3 subintervals for fon the interval
[3,17]

c) Use left-handed rectangles to approximate the area with 4 subintervals for fon the interval
(1, 12]

d) Use trapezoids to approximate the area with 3 subintervals for fon the interval [3, 17]
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1) Selected values of a function, £, are given in the table below:
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a) Give the middle approximation with 3 subintervals for fon the interval [0, 20]

e = A) + 4(2) + 9(6)
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b) Use right-handed rectangles to approximate the area with 3 subintervals for fon the interval
[0, 20] ‘

Ave = 3(3) + 4(3)+ 9(10)
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c) Use left-handed rectangles to approximate the area with 3 subintervals for / on the interval
[0, 9]
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d) Use trapezoids to approximate the area with 2 subintervals for fon the interval [0, 20]

Area o= “:Z”[Q‘f?]ﬂ' g[¥+/0]

) F Lkt A £ :@

()




2) Selected values of a function, £, are given in the table below:

f 1 1 i
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X 1 3 7 10 12 13 16 17 20
f(x) 3 6 1 9 15 2 4 5 6
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a) Give the middle approximation with 2 subintervals for fon the interval [1, 20]

Aren == 11(1) + §(4)
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b) Use right-handed rectangles to approximate the area with 3 subintervals for f on the interval
(3,17]

Acon = 7(9)+ 3(2)+ H(5)
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¢) Use left-handed rectangles to approximate the area with 4 subintervals for fon the interval
(1, 12] '
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&) Use trapezoids to approximate the area with 3 subintervals for fon the intervl [3, 17)
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